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YF 110 Ke = 1.3938 P/L
6000 kg/h 20mA i = 488.96 P/s
(€H) Qv nax
f_ . 488.96P/s-3600s/h
Gomex = = 1 3038P /1 x 10001/M”
=1262.92 m°h
) O max Qv max P4
P = Unmax / umax
= 4.7509 kg/m®
3) ti P Pd
ty = 300 g = 4.7509 kg/m® ps= 1.117 MPa
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ty = 250 Py = 4.7509 kg/m® pe= 1.0 MPa

k Pt P P Ps 1
ps= 1.117 MPa  t3 = 300 P4 =4.7509 kg/m®
P s =z3=1
YF 115 ke = 0.4417 P/L 20mA
Qv rex = 20000 Nm®/h 20mA Finax = 377.99 P/s
Pl
1) Ovd
q, - Fimex _ 377.99P/s><36003/21
k.,  0.4417P/1x1000l/m
=3080.77 m°/h
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Pph th zn, —
pn = 101.35 kPa
t,= 20 0 t,=0
Zn =1
ze=1 Qvrax  Qud ®)
Pe t, -z, (273+20)p, 20000
p,-t,-z, 101.325xt, 3080.77
Qvmax  Qud 7 p« = 0.6 MPa (6)
t: = 313°K
= 40
Po
0.6 MPa 40 1 z=1
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